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Note to the students:- All the Questions are compulsory and carry equal marks .

Q1. For changing the content of given HTML element select the correct JavaScript
code.
<p id="demo">This is a Paragraph.</p>

Option A: | #demo.innerHTML="Internet Programming”;

Option B: document.getElement(“p”).innerHTML="Internet Programming”;

Option C: document.getElementByName(“p”’).innerHTML="Internet Programming”;

Option D: | document.getElementByld(“p”).innerHTML="Internet Programming”;

Q2. Which element may be used within content to represent material that is
tangential?

Option A: | aside

Option B: cite

Option C: article

Option D: | class

Q3. What is the purpose of setting .py?

Option A: | To configure settings for the Django project

Option B: | To configure settings for an app

Option C: | To set the date and time on the server

Option D: | To sync the database schema

Q4. What is advantages of Mashing with JSON?

Option A: | Numbers of API’s does not support JSON

Option B: | JSON is Readable

Option C: Browser directly communicates with partner site.

Option D: | There is no possibility of data on the server.

Q5. Which one of the following function is used to start a session?

Option A: | start_session()

Option B: | session_start()

Option C: begin_session()

Option D: | start()
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Q6. What is the name of object used for AJAX request?

Option A: HttpRequest

Option B: | xmIRequest

Option C: XMLHTTPRequest

Option D: | RequestObject

Q7. The three different application logic components are which of the following?

Option A: | Presentation, client and storage

Option B: | Presentation, client and processing

Option C: Presentation, processing and storage

Option D: | Presentation, processing and network

Qs. Which of the following HTTP method should be used to delete resource using
REST-ful web service?

Option A: GET

Option B: POST

Option C: PUT

Option D: DELETE

Qo. What will be the output of the following PHP code?
<?php
for ($cnt = -1; $cnt < 10;--$cnt)
{
print $cnt;
}

7>

Option A: | 123456789101112

Option B: 12345678910

Option C: 1234567891011

Option D: | infinite loop

Qio. Django is free and open source

Option A: | Content Management System (CMS)

Option B: | Learning Management System (LMS)

Option C: | Web framework and a programming tool

Option D: | Client side programming

Q11. WSDL Stands for

Option A: | Web Services Development Language

Option B: | Web Services Design Language

Option C: | Web Services Description Language

Option D: | Web Services Derived Language

Q12. Which of the following XML documents are well-formed?

Option A: | <firstElement>some text goes here
<secondElement>another text goes here</secondElement>
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</firstElement>

Option B: | <firstElement>some text goes here</firstElement>
<secondElement> another text goes here</secondElement>

Option C: | <firstElement>some text goes here
<secondElement> another text goes here</firstElement>
</secondElement>

Option D: | </firstElement>some text goes here
</secondElement>another text goes here
<firstElement>

Q1s. What is the output of the following code?

<?php

$x=5;

echo $x++;

7>

Option A: 5
Option B: 6
Option C: 4
OptionD: |3
Qia4. Which of the following selector is used to select the element that is the first child

of its parent that is of its type?

Option A: :nth-child(n)

Option B: :first-line

Option C: ‘last-of-type

Option D: | :first-of-type

Q15. How do you make a list that lists its items with squares?
Option A: | list-style-type:square;

Option B: list-type:square;

Option C: list:square;

Option D: | style:square;

Qie. What will be the output of the following PHP code?
<?ph
pnp
$0=1;
print($0);
print $0;
7>
Option A: 01
Option B: 11
Option C: 10

Option D: Error

Q17. Django is a free and open source web application framework, written in

Option A: Python.

Option B: C++
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Option C: Java

Option D: | Javascript

Q1s. What is the Django command to view a database schema of an existing (or
legacy) database.

Option A: | manage.py legacydb

Option B: | django-admin.py schemadump

Option C: manage.py inspect

Option D: | manage.py inspectdb

Q19. How do you add background color to all <h1> elements

Option A: | hl.all {background-color:#FFFFFF}

Option B: | h1 {background-color:#FFFFFF}

Option C: | all.h1 {background-color:#FFFFFF}

Option D: | h1 {bgcolor:#FFFFFF}

Q20. What does XML stand for?

Option A: eXtra Modern Link

Option B: | X-Markup Language

Option C: Example Markup Language

Option D: | eXtensible Markup Language

Q21. Which Boolean attribute will allow video automatically seek back to the start
after reaching at the end.

Option A: | Autobuffer

Option B: Preload

Option C: Loop

Option D: | Controls

Q22. What is AJAX of processing steps?

Option A: | XMLHTTPRequest object >HTTP Request >Web Server > XML Data

Option B: XMLHTTPRequest object >FTP Request >Web Server > XML Data

Option C: | XMLHTTPRequest object >GET Request >Web Server > XML Data

Option D: | XMLHTTPRequest object - Callback Function >Web Server > XML Data

Q23. <?php
$numberl =“1;
$number2 = «2”;
print $Snumberl+$number2;

7>

Option A: 3

Option B: 1+2

Option C: 12

Option D: Error

Q24. Which three parameters are use the sequence of AJAX Call?
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Option A: Method, URL, True / False
Option B: | POST, Location, True/sync
Option C: | GET, Format, Async/sync

Option D: | Method, Address, False/Async
Q25. To start a list at the count of 5, use
Option A: | <ol begin="5">

Option B: <ol list="5">

Option C: <ol start="5">

Option D: | <ol num="5">
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